
ĐÁP ÁN BÀI 2 TRANG 158 SGK TOÁN 5 PHẦN ÔN TẬP 

HỌC TẬP - LỚP 5  - TOÁN LỚP 5 

Bài 2: Tính bằng cách thuận tiện nhất 

a) (689 + 875) + 125 ;     581 + (878 + 419). 

b)  

c) 5,87 + 28,69 + 4,13 ;    83,75 + 46,98 + 6,25 ; 

Đáp án 

a) (689 + 875) + 125 = 689 + (875 + 125) = 689 + 1000 = 1689. 

581 + (878 + 419) = (581 + 419) = 878 = 1000 + 878 = 1878. 

b)  

c) 5,87 + 28,69 + 4,13 = (5,87 + 4,13) + 28,69 = 10 + 28,69 = 38,69. 

83,75 + 46,98 + 6,25 = (83,75 + 6,25) + 46,98 = 90 + 46,98 = 136,98. 
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